ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



R R e e T

1
DRAWING MADE [N ﬂzum_u ANGLE PROJECTION ..w 9 <
THIS ﬂtazo IS UNPUBL ISHED. _ RELEASED FOR PUBL ICATION .19 . - REVISIONS
© corvmianT 18 BY AMP INCORPORATED. ALL INTERNATIONAL RIGHTS AESERVED. 161 B2}t 39 plelzone|Lm . OCICRIPTION oATE | aPPD
T | A | REDRAWN ON CAD | sl - ]
B4 B | REVISED PER ECN BDS388 nam | B ]
OPENING FOR CABLE {
(SEE DASH NO FOR DIA) Wmu
“ ]
1
OHC D m‘
.I..l:/r % T .1
i N
- 1.215+. 015— e
SIZE IDENTIFICATION
t ETTER MOLDED HERE —> - .570%.015
(SEE TABLE)
I , ~ CABLE CLAMP
u\\\\\\\\\|x>qmmm>r“ FLLAME RETARDANT THERMOPLASTIC o
FINISH: BRIGHT NICKEL OVER BRIGHT COPPER
[
#£4—40 FILLISTER HEAD
STEEL SCREW — MH_ =]t
2 HEX NUT, ZINC O 8 #4—-40 FILLISTER HEAD SCREW
REQD. b STEEL, ZINC PLATED, 2 REQD.
PLATED, 2 EACH RE — " 9104, 015 N&i\\
LA™ !
q _ ¢
T | mWMWWWMMw |
Hnu / \II 4 . .
1ls
Y -
-~ . 984 ———w! i
+B
va ALL PARTS PACKAGED UNASSEMBLED. A . 200 Y- 745854-6 745854-5
NDV c . 250 Y4\ 745854-4 745854-3
wa AS SHOWN ABOVE, THIS KIT CONSISTS OF 2 H - 370 7458542 7458541
STRAIN RELIEF HALVES, 2 #4-40 SCREWS, 2 #4-40 NUTS & REMARKS s1zE 10enT | casLe | BuiLk packep | INDIVIDUAL +—
2 #4-40 MOUNTING SCREWS. { FTTER DIA KIT NO KIT NO _
me SAME AS SHOWN, EXCEPT: EACH PART IS INDIVIDUALLY BULK
v\kﬁwﬂmo FGOR melﬂ.thrm *AH.N. omomnm. DO NOT SCALE PRINT. DR 5-16-90
UNLESS SPECIFIED J GAtLLUCCT BS i AMFP INCORPORATED
DIMENSIONS IN INCHES CHE  9-10-30 Horrleburg, Pa. 17105
@ OBSOLETE TOLERANCES ON . J. McCL INTON
2 PLC DEC = - ]
3 PLC DEC = ,005 APPD 9-10-890 NAME
ANGLES + - J. HESTMAN
MATERTAL APPD 9-11-80 CABLE CLAMP KIT, SIZE 1, S POSN, A
SEE CALLOUT SRODUET SPEC 180°, PLATED PLASTIC,
_ AMPL IMITE™
FINISH APPL ICATION SPEC SIZE FSCM NO DRANING NG
SEE CALLOUT - C| 00773 745854
WEIGHT _ SCALE 2.1 SREET 10F 1 .
N ..t.‘.l”.aﬂ—.l” ww... -~ ~ L AT Pk AN T MWEAEY L. b TSSO " ’ Ocm-ﬁozmm Dm> Z .M. ZO

e e rmm M e e mem me v me — mmm o — e A e e e gt L 4 ma e e A A e e v wm e o

S e e e m e i e et mm o e e e ae e e e R T W W e ki ek e e el oMl e VIS WA AR L AL e s Wb EmE



	Contact us

